12 E RS (A) emial PIEEHE(B) #MEHBE(A+B)
-lﬂﬁ %E Al DRy bz AW DX Wi A% DRM HE MM
15 [(15) Sample Power 1 FEE |14 HiE ¥ a] Ha3% 19 55 %
] (b Jitst BZRAISF 1 EEE 17 BE% 4 E7% 21 B1%
5 (9 )BRE S Ch B P EERT FiE---ROC curve 1 HEE 15 B3% il 7 % 19 9%
11 |{11) Survival analyisis F--Log rank test vs surival plot |1 R |14 52 % 4 57 % 18 75%
12 (121 Sureival analyisis I---Cox model 1 HEFE |14 He %o 4 57 % 15 F5%
5 (5 EEEFRE R RERR 1 HAE 15 FE% ] 3% PO 7%
13 (13) GEE= |83 B e {5347 1 EEE 13 FE% 4 57 % 17 4%







=M A

s ) JEETR] (discrete variable)
= "% (nominal scale )
o {9 R~ R
« Aib B0 (ordinal scale)
L R T e g 1
o [YIO0 3 SRR
= SHEE YRR (continuous scale)
« SR (interval scale)
= R FIgt > PRAAHSERES > (27 R1SEY0
. FIR : EE
» = FRU# (ratio scale)
« U EYE[CAUETGE 5 E RSSO
o G0N 2l B F R



+

73 JE R[N

f‘;flﬂﬁﬁ 175 (ratio or % )



73 W TR

RrE R
ool Bos BT phe My B . .
8 * K ETEERNE - AR EER
BEHEsn  EPSErEE  (DEETEE ITROMEEE SRR _J"IIE ‘? { E_ﬁﬁﬁ 1 E%ﬁ.ﬂﬁ :l
R eE B3 HER
. 35%
EERH : SESIRESA
. 15%
Rk FiEEMN K - AR EERE _
TUE? ( ATEGE - B HE4AE ) | HEREL SRS
O] BekEm i
O Em A - e 13%
O] S A | = L
O SEF FHTE
O {hErHE 4%
O i YIRS B ~ ZrH
O THLE 4%
Hity
it fird ko] 3%

r . B 20130091 T#Ei@E1 1 eriEET 2 638E
Yahoo i =i passos



53 KR O

= TSR (Bar charts)

Pt R R

250

200

150

100

50

0

2007+F 2008F 2009+F 2010F 2011+




Fof R B
excel 2003 £% 7]

AL | A0 IR

4 | BERE.
1 aw -
4 | B | C | LR D i
1 rHEm -
T EEE éhﬂ" E=m.. |
2007 197 SRR ()

20084 203 s CEERER. |
2009+ 190 SigmaPlot Graph R
2010F 227 SHEE

20114 182 | a0
b EHEW 3

| EEEED
Ellyid] 3
7 EHERFRG..
O
W D, Cultl




R 2

BlkHm - P54 .2 2 - BERAFHER

excel 2003 £% (5] == .-

250
200

pan EESFTE
LU o O
1]

BElERm - % 4 2 1 - EEma

BuEsEhl | FITaEs

#FEHTE O nR
Iﬁiﬁiu Bl ElF=ERE T © #HL

il
i

-1 1 =

[(mE | [«t=e|[f2w-] [z |

EFHE - 5% 42 2 - BERAEHER

o 20075
L5 —— | 200
O 2009
oy — 020 10|
50— 201
o
FREEEN
[ T o TR 2 BB (1) ]
B D ene. $ES24CH
Lot T2 [ =E | BFTREEE o ¥R
O W

[ B | [«t—so|[f$w:] [ Z8E |




P B3

BEHEE-FR4. 3 - WERY

BE | e | B

&

HEHEE \EHES

excel 2003 £% 57

EFRED:

(R EES

18R L &8

AT AR

250
200
150
100
50
i

LI ks g

T

ooy

& P

BEHx -S54 3- @EREG

@E | mEm | 5 | Bp | EREE | EREs

[

Ruid

| [ E—%E |[T—#w -

| (3 RS
] %t?']%ﬁ@ F R ERy
- 250 @
EDD‘ 197 203 190 M1 g
150 —
iR
IR E): NN N

1]

(] PR i n&@ ﬁ“ ,@5’ ,ﬁ

[ m@ | [t—#®]|[f-2w-] [ = |




AL - 1 R

excel 2003 £ (9] wrmipmq e

EEFEE-FE 42 3- BXRE

2 BFREEFC..

EEHE - R4 2] - BERE

[EE ‘ FERREN | 1E4R EF | ERHEE | EHEE _
srwa0 WL | S

S BERBEESO.. g . FRmERe BIFAEEI. .. L 1) SEFERT

BEIF=EEIT. BiEvam 0 IH% FEEE .

- P

EFEED... L — | $FFs BFE{aE L.

ElF={rEL)...

;i?ﬁﬁ@ e o | S titR AT EFE .

TR

EF=FRE (M)
&£ BT [ B R ]
3| EHED o BERBEEFAO. ] ET)
3 BEm [ElF=4ERU T

B |§EE§:H_ a | s | ¢ | b | 5 | | o | u | 1t |

R EEEE. |

FRLien | [T =
1318 LB (D) - oo s7 | [ —
BABTBK 2006 208
b BHEEL). {20004 190 | FRAEER
e 20104 227 | b —
}EEE%@ _-E‘Hri?ifﬂsi

otig 182 1| el jE
0 —

230

SFEENE: OFR)
[OF 18]

200

A



7} B LA SRS [ 2

= VTEHE (Pie charts)

A o e oy
0115 007

0 2HE

W RE

0 2E

O Z0HE

2010 20055 m 20114
23% 0%

SONOEE



el excel 2003 £5 7

B - R4 2 3 - EEEN

e #E | @ | A
Efea(i)' 3 BEas
e iEE 1 [] &L B R
5E WEEIE:E10))
[ AE
=R i) o 20075
_> | 00
0 2009
ARIIRD i
( TETE T ] e REpIT) ]
i F—=w:) (=88 ([ =i |t ]|[Ff2#n-] [ =FE |

B - 4 2 2 - BEREHAER

e | 87 BXEE- S84 3- @BERE
FRaERE }
HElEE |
o 20074
| 2006
O 20094
020 10| LAl €
m2)1E FUINE= 2007
LE% 20% o 20075
> —l G onon
EHMED): [ She§B529CH JR—— Egénf g%?f o200
A L ™
SFEREIE: O IR 09 |20
(OF..[ 19%
............ D ﬁuﬁﬁ@
BETIEE 48D

[( Bl | [:t—#®]|[F—Fw:] [ =8e |

[ Bw | [t—s@|[Ff-fw-] [ =@ |




e
Al B Rl



i & FIEEY

« T H{H (mean, M)
= AT Bl
= 15 E (median, Mdn)
= = AR T AT PR B ff
= ;8 (mode, Mo)
o RIS RV
el Elillie eks tadill |




= FEE B b
F B H {78 155
Hip| KB O X X
RN O AN X
HERE O O O
P B sl | Bl oS | B BRNE
* 2up {238 B E
fHNE > MEERTIERT | kR AT Bl i
eI E e ol SR iE s




AN (TN TR e RE
7ghf Bl (variance, Var)
= { 2 (D [HE-T 1550)2 } HE

fEvesr (standard deviation, SD)
. (VBRI

fEvE=El (standard error, SE)
o ARYER] (Y {[HEY)

fa kil (78 (coefficient of variance)

g IBiEy KT ]

455 5k =2 (inter-quartile range, IQR )

BRI PR R 25% (Q3) (S
sin % 25% (Q1) pUgf



/4y
71|

ORI o

C' | [ tw.news.yahoo.com/ & P9854 B - TR NEEEMEE 220000540 - finance himl
- el pos B le M HE EE  ER A wH @E

B EPRTE  LETH OISR WHEE EREE WEEHE  1nEhRg B

VEEEE - HHEE > | SR =

GEH E4ES o/ NERIE

w #78 — 20138F 88108 4600 -F |+

WIS EE L RHIRREIRS ghist » fRAIENS - HEST
EETH R FEEMTNERE » HE4S5088TT » HEER
EMEZRMFHIRE 8T - RENTET » FENASE
T RiEHMeEEREEE R ESrEEREH
I BTERRE  BMESH{LEE  ¥IFr 2Rk
& AT SiEEEEFRAT -

HERNIRESFE EAARERETTE ) S2Y
EE L MRS EIRS AR 2R FRERS TR E RS
BHEILEMEFR AL  @EETIRFREAS880T » filnFEs10% - EL
& FEAE  RENTEERE -
EERMGEFRIRHERE - 835 F910 % HEE5/{ET  BEHRE
63%  HERHTF A% EEtEE=E  BESFTHEEE > BHEWSD FEet
4 S LERMEEEAFEEMEZFHE ) e -

BT 48 5 mitr ] ERE



/4y

11|

aliEe S

. @}[Jiq%ﬁ' (Bar charts)

00
00 T
00
200
400 1
300 1
200 1
oo r
0.0

=

2007 5 20085 20094 201048 20115



57.4

20078 20068 20098 20108 20115

HHMFIRT (%

Do | viSE | EeEE | #F0EF | S |

088 B &z

' [OR=EIEN] [OR=E N

OEW O EE
-~ O EEEEEEEN
254 N E—r T T T T T T T
e 532 BR0O | 58 v HMEEEEEEE
o s = | ( EEOEEENEN
o 58.0 w0 ——®| | ggooommo
=18 =) EEOCOEEND
. EEEEEEN
576 el [ #E#ufo. |

[ mE | Ruig

574

20072 20088 20098 20102 20112




B | E@mwm | THER | EeEE | enes | =w |

BrD

= 8% -

g

© TiEE: m

O BEALE: B

O B n

OEESEE

OBTQ: +
:

vl excel 2003 £ 7]

FEE Hif

ARMREA - B2

=Sheet2l §DE2 $DF7

sl fon o o oo -

X

b

| B || EEEm | VERER | SREE | @FIEF | 38 |

HH®AES

BT

-]
e EE BE i

REE

O EEE: 0z S

O BAE: %

O EEEey

[@F: =5 iy]
@ BETC): + —Sh.eet2|$D$3 $D$?I

HHMMEA - BT -




P e o H

o~
1 =
=

3

EHNAEE
Bt | EEEn | TRESR  THEE | #TIEF | B8 |
BT
B ENE
& EE i=F-3 #
REE
O ElE®
O BHEEE: %
O BEEE
O BHEERE(E)
@ BETC '+ | =Sheet2I$D$5:4D47
- [ Shest2I$D$34D47 [55d)

HTil

e

80.0
0.0
60.0
500
40.0
30.0
200
100

2.0

#3 excel 2003517

HH

20078 20088 20098 20108 2011




/4y

11|

PRI IV T 12

o @l 4 q%ﬁi ( Histogram )

300 |
250 |
200

® 150 |
100 |
50

0

2002224005 T 21030 32 33 35 24 38 40 41 43 26 46 48 49
T



. B C
1
2 | il AR
3 20 1
4| [ 27 9
5 | | 22 6
6 | | 23 5
7| | 24 10
8 | 21 14
9 | |25 9
10 | |26 16
11 | |27 24
12| 28 25
13 | 22 27
14 | | 29 34
15 | 30 38
16 | | 31 49
17 | |32 53
18 | 23 59
19 | |33 69
20 | 34 83
o1 | 35 100
29 | | 36 113
o3| 24 106
o4 | 37 154
o5 | 383 137
% | 39 168
7 40 176

HHMFIR %]

300

250

200

150

100

50

0

L ERL excel 200315,

m:.l.il.l.l.'l.l.l.l.l. NN

R O ¥

£

® R P

FELEEIO): BF5E )
1ERURSRE (W) [EsRs B m
300
250
200
130
1n
il 11
. eemmant L LD L
By ol A e A S D oap @

&

5

Roif

]




BB
LBRIRSAE (WD)

[ EE R B

300

230
200

150

1an

Ao oo oA R

T

g AP

CA 4

L_mE | |

BTiH

]

/ﬁz excel 2003 £% 7]
X
1‘_{>

Bt | EEm | VRS | EeHEE | #FIERF | BE

EI ) Ea&' > XEDHIEAAE

et v =0

00 1
250 M
200

2150t
100
0t

0

20072 24 25 77 22 30 32 33 35 24 3R 40 41 43 26 46 4R 49
Hp



11|

AR A
o Pr5UgE! (Line charts )

300
250
200 |

% 150 |
100
50

0

20022 24 25 27 22 30 %2 T3 35 4 3R 40 41 43 %6 46 48 4%
e



PrsURIREr S H TR excel 20038311

BIEsER | GETIEA

EFBRC) SIEFEAT).
] EFE

[ >

B[f=

iy BEE =
o FEE
y BEE
e R EE

[ <

HIH

SREEELATIRE -

[ ExEBEE=O

[ T R T A () |

(PERIEFENE | [ ®me | [ DA |




11|

ol HLAECRRI OB R 4

- ﬁj’rr’ﬁj[ﬁl ( Scatter/Dot plots)

300
250
2000 1

‘e **
L

%lﬂ] -

100
5001
[ Letese?

.t
- et
***




Ll

fBn4ER | BITHER

(Bl 7= 4R (O

2l ElF=LREIT):

] EFE
- iRiFE

(3

*

*

*

~
2

BELS s

::_: 'T

[

B E- TR TR E A 0T

]

(BERZERSELE |

l

TiEiE

J |

RLif




Ll

HE

300
250
200
150
100

50

e

>
&

Ak

- *
I et ot e . .
s o EHEFIERQ).
N
- e, BT .
I Lo HREEE.
[ misserR |
*
I pet’ B
lntentle +€ T L L 1 . .
0 5 0 15 2 25 30 35 40
Tl

SR AR S

L) i e ]
FEI 1B&E tedhFradd
ARIGEIT ()

_mE

J [ EE |

,

—L

Ik

300 1
250 |
200 |
= 150§
100
50 1

Ii E_‘ W I

ﬁ excel 2003 £% {71

TR

ST IO - — AR




11|

"

o
<

80-

60-

40-

20-

0

e PR P34 AR R (S)

= F][H (Box plots)
100-

> Bl

FITP B, Q2
Q1

— $5 /[ [

|
Male

|
Female



11|

"

PR L AR R (6)

s B [El (Stem-and-Leaf Plot)
atem & Leaf

Frequency

—_— I ot

0o
0o
0o
oo
0o
0o

-1 Onon L) [

([ 87

i

15

144 57EEY
12255580
1245

3



Receiver Operative

!'_ Characteristic Curve (ROC)



What is the difference between a
i screening and a diagnostic test?

= A screening test is not definitive
= A personalized risk estimate
= Increased risk

= A diagnostic test is definitive and
indicates whether or not your baby has
a certain disease or condition.



Disease

D+ D-
LT+ A D
1. B c

4, (sensitivity, Sen.)
« P(T+|D+)=A/(A+B)

’ﬁ E1%(specificity, Spe.)
=« P(T-|D-)=C/(C+D)

W 1530 fifi (Positive Predictive value, PPV)
= P(D+|T+)=A/(A+D)

i 145131 ffi (Negative Predictive value, NPV)
=« P(D-|T-)=C/(B+C)

Hifj &= Prior probability, P(D+)

g1 %4 Posterior probability, P(D+|T+)



Sensitivity 95% Specificity.98%
N=1000000

Prevalence=0.04%

Test result Present Absent Total
Positive 380 19,992 20,372
Negative |20 979,608 979,628
Total 400 999,600 1,000,000

PPV=380/20372=0.019
NPV=979608/979628=0.99998



Sensitivity 95% Specificity.98%
N=1000

Prevalence=10.0%

Test result Present Absent
Positive 95 18
Negative (5 882
Total 100 900

PPV=95/113=0.841
NPV=882/887=0.994

Total
113
887
1,000



Prevalence & Screening
i (Sensitivity 99%, Specificity 95%)

Prevalence 1% 5%

N 1000 1000

D+ 10 50

D- 990 950
Test+ 9.9+49.5=60 | 49.5+47.5=97/
PPV 17% 51%

NPV 100% 100%




Relationship between prevalence of disease and predictive value,

with sensitivity and specificity held constant at 95 percent
(Adapted from Vecchio, 1966)
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Prevalence of Disease (Percentage)

Screening test perform best when prevalence is betweer(40-60%



Number of persons




Sensitivity

FPosgitive if

Greater Than
ot Equal To? Sensitivity | 1 - Specificity
-7.2500 1.000 1.000
ROC 6.1250 1.000 1.000
Cu rve -5.8750 1.000 1.000
-5.7083 1.000 999
-5.1280 1.000 .8499
-4.4583 1.000 898
100F ’_ -4 1667 1.000 997
‘ -3.5417 1.000 897
-2.5417 1.000 997
80 -1.0000 299 997
0417 996 877
60 0833 495 852
1250 994 833
1BB7 94 916
40 2083 492 086
2917 4591 B44
20 3333 440 818
3750 840 804
A167 8490 792
0 s slo s '1(')0 4583 440 7B3
100-Specificity 5417 989 726
5833 488 702
B250 987 a1
BBE7 986 B76
7083 985 647
917 983 609




Sensitivity

100

ROC curve

1.42

40 60
100-Specificity

80 100

Area under curve (AUC) | 0.852

95% C.I. of AUC 0.844~0.859
p-value <0.001

Best cut-of 1.42
Sensitivity 88.3%
Specificity 64.5%

PPV 87.0%

NPV 67.2%




Analyze  Direct Marketing  Graphs

Reports b
\/, ﬁ[__:[ | Descriptive Statistics 2
Nt ROC SPSS17.08% (5 '
}-I\ u j;\lf Iy ] B
Compare Means 3
General Linear Model b
§if *est.say [DataSet3] - PASW Statistics Data Editor
File Edit “iew Data Transform  Analze Direct Marketing  Graphs Generalized Linear Madels  »
; T Mixed Models b
SHe [ «~ ~ Bl i
|' | Correlate b
Redression 2
STATUS | TestWariable -
1 1 417 Loglinear 2
2 0 175 Meural Metwaorks P
3 0 225 Classify 8
4 1 5.08 _ _ _
5 1 49 Dimension Reduction b
E 1 B.17 Scale F
7 1 533 Monparametric Tests 3
g a 1.00 )
Forecasting 3
4 a 37 B
10 1 483 S '
11 1 580 Multiple Response 2
12 1 483 Missing Yalue Analysis...
13 1 5.00
14 1 5 58 Multiple Imputation 2
15 0 03 Complex Samples 3
16 a 25 ality Contral
18 a A0




§if ROC Curve

Test Yariahle:
& Testvariahle

&b STATUS

| TestVariahle:

& TestVariahle

State Variable:

State Variahle:

» & STATUS |
Value of State Variable: |1 Value of State Variable:

Display
[[] ROC Curve

[ ROC Curve

B \ith diagonal reference line

[/ With diagonal referance lina

[T] Standard errar and confidence interval ¥l Standard errar and confidence interval

[7] Coordinate points of the ROGC Curve

Paste [Beset”Cancel” Help ] [ 0K ”Easte ][Eeset”(}ancel” Help ]

£z ROC Curve
i _ 1.0
TestVariable:
4 Testvariahle
0.5
State Variahle:
[& sTATUS £ "
%
=
L)
wn
Display 0.4
[7] ROC Curve
With diagonal reference ling
[] Standard error and confidence interval 02
[7] Soordinate points ofthe ROC Curve
0.0
[ Ok ” Paste H Reset ”Cancel” Help ] o A o oG oG A

1 - Specificity



Case Processing

Summary
STATUS Valid N 3
(listwisc) 1
Posilive® 6314
Negative 2342

Larger values of the test
result variable(s) indicate
stronger evidence fora
positive actual state.

a. The positive actual
state is 1.

Area Under the Curve 2

Tes(Resull Variable(s ) TesVariable

Asymplolic 95% Conlidence

Inlerval
Asym ptotic
Area Std. Error? Sig » Lower Bound Upper Bound
851 {005 Nefele] 842 .861

The test result variable(s): TestVariable has at least one tie between the
positive actual state group and the negative actual state group. Statistics
may be biased.

a. Undcr the nonparametric assumption

b. Null hypothesis: true area = 0.5

Faositive if

Greater Than

ar Equal To? Sensitivity | 1 - Specificity
-7.24800 1.000 1.000
-6.1250 1.000 1.000
-5.8750 1.000 1.000
-5.7083 1.000 95
-5.1260 1.000 95
-4 44583 1.000 4498
-4 1667 1.000 97
-3.8417 1.000 97
-28417 1.000 a7
-1.0000 A95 a7
0417 495 ATT
0833 495 AAa2
240 a94 433
JBET a94 A6
2083 A97 BAE6
2917 491 a44d
3333 9490 818
3TA0 9490 804
A167 9490 a2
44883 9490 TFaE3
AT 985 T26
A833 988 0z
B2A0 987 Nt
BEAET 986 BTE
Foas 4985 647
JaT 483 G085




